2025-07-24 Navetassa 24.7.2025 Lopputulos

4 poytad, 8 paria. Jakoméadrd: 28. Keski: 84. Vertailu.

Sija Pari Pisteet % Vert Nimi J-ID Kerho
1 3 9% 57,1 2 Janne Blomgqvist - Henri Virtanen 2840 3301 Salon Bk
2 2 9% 57,1 0 Arja Niskanen - Hannu Nokka 2956 3590 Salon Bk
3 4 94 56,0 Pirjo-A Nurminen - Anna-Liisa Hiuspda 1694 2918 Salon Bk
4 8 90 53,6 Rauno Tasala - Jukka Pettersson 3025 3023 Ei SBL:n jdsen - Salon Bk
5 7 84 50,0 Hillevi Karttunen-Heikkinen - Satu Eloranta 3342 8104 Salon Bk - Somero bridge
6 6 76 45,2 Anneli Saneri - Piiti Jarvenpad 1959 3325 Salon Bk
7 1 72 429 Tarja Vataja - Robert Saltin 8560 2966 Ei SBL:n jdsen
8 5 64 38,1 Aki Saarela - Matti Rintala 3373 3024 Salon Bk
Jako: 1 Jako: 2 Jako: 3
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
65 1lv N = &6 80 60 42 2v S = aA 110 60 73 2N N = 2 120 60
81 2v N -1 ¢2 50 42 73 2¢ N = &3 90 42 81 1a W -1 &A 100 42
73 2& N -2 92 -100 24 81 IN W+l 3 -120 24 65 2v E = aA -110 24
42 2N W = aK -120 06 65 3N E +1 ¢3 430 06 42 44 S -3 vA -150 06
Jako: 4 Jako: 5 Jako: 6
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
65 3N E -2 «6 200 60 82 24 W = o2 -110 60 14 4 W +2 aA -680 33
81 2N W -1 a9 100 472 14 24 W+l &A -140 33 53 4 W12 aA -680 33
42 1lv E = aA 80 24 76 24 W+l &) -140 33 76 5v W+l aA -680 33
73 3N W = a9 600 06 53 4vx S 4 +K -1100 06 82 4v W +2 aA -680 33
Jako: 7 Jako: 8 Jako: 9
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
76 3N W -2 a3 200 60 53 Sex W -2 &K 300 60 25 2v E 2 &A -170 60
53 3N W = a3 -600 42 82 IN S = v7 90 42 17 1v E +4 a9 200 42
82 4 W = &) -620 24 14 4¢ W -1 &6 50 24 83 4v E = &A -620 24
14 4 W+l &7 -650 06 76 2v E +2 o) -170 06 64 4v E +1 a6 -650 06
Jako: 10 Jako: 11 Jako: 12
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
17 2N S = a8 120 60 25 3v E -2 ¢A 100 60 25 3N S +2 «6 660 60
83 IN S = aQ 90 42 64 3v E -1 ¢A 50 33 83 24 S +3 ¢6 150 42
25 2N N -1 aA -100 15 83 3v E -1 ¢A 50 33 17 2% S 2 ¢6 130 24
64 2N N -1 aA -100 15 17 3N S -1 a3 S50 06 64 34 S = ¢6 110 06
Jako: 13 Jako: 14 Jako: 15
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
36 4v N +1 aA 650 51 36 2¢ E +1 a2 -110 60 21 3N N +2 «J 660 60
75 4v N +1 aA 650 51 75 2¢ W2 aA -130 42 36 3N N = 2 600 472
84 3a E -3 ¢A 300 24 21 IN W+3 3 -180 15 75 IN N +2 «J 150 24
21 3v N +2 «10 200 06 84 2N W +2 v2 -180 15 84 34 S +1 ¢A 130 06
Jako: 16 Jako: 17 Jako: 18
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
75 3v N +1 aQ 170 60 32 4v S = a7 420 60 85 24 W -2 7 100 60
21 54 S -1 #5 50 24 47 3v N +1 &7 170 42 47 1 S = ¥5 70 42
36 5v N -1 aQ S50 24 85 4ax E -1 aA 100 24 16 24 W -1 o7 50 24
84 44 N -1 &2 S50 24 16 24 E +1 3 -140 06 32 1lv E = ¢K 80 06
Jako: 19 Jako: 20 Jako: 21
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
16 2v E +2 oJ -170 51 32 3N W -3 «8 300 51 27 2N N = «3 120 51
85 3v E +1 &A -170 51 85 4v W -3 ¢10 300 51 51 IN N +1 a2 120 51
32 2v E +3 a8 200 24 16 2v E -1 ¢3 100 24 43 3v N -1 «Q -100 15
47 4v E +1 aA 650 06 47 29 W = ¢8 -110 06 86 44 N -1 &Q -100 15
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4 poytad, 8 paria. Jakoméadrd: 28. Keski: 84. Vertailu.

Jako: 22 Jako: 23 Jako: 24

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
27 4evx E -3 «A 800 60 27 3N S +2 al0 660 42 51 3« N = ¢A 110 60
51 2 N +1 8 110 472 43 3N S +2 a7 660 472 86 IN E -1 «4 50 472
43 3N W -1 &5 100 24 86 3N N +2 5 660 42 27 24 N -1 o5 S50 24
86 2v W = aK -110 06 51 3N N = 5 600 06 43 IN E = «4 90 06
Jako: 25 Jako: 26 Jako: 27

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
31 2¢ S +2 42 170 60 87 3N S +1 a7 630 60 31 le N +3 ¢A 130 60
87 le N +2 &7 140 42 62 3N S = a7 600 42 54 5¢ N -1 vA S50 42
54 3a N -1 &K S50 24 54 4ex W -2 &K 500 24 62 S5¢ N -2 vA -100 24
62 4v N -2 a3 -100 06 31 3N S -1 ¥5 -100 06 87 3v E = ¢4 -140 06
Jako: 28

Pari Sit LK Tulos Pisteet

8 7 Pass 0 60

31 2 E = &5 -110 33

62 2 E = a2 -110 33

54 4ax N -2 9 500 06
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